DU MA Philosophy

Topic:- DU_J19_MA_PHIL
1) “Self —Respect is my birth right” is the slogan of ___.

“HTCHAFATT AW A g IR 7 ___ F1 316 a7 ¢ | [Question ID = 1268]

1. Lakshmi Narasu / o1&t s17g [Option ID = 5071]

2. Karunanidhi / s%omifafer [Option ID = 5069]

3. E. V. Ramaswamy Periyar / 3. dt. JrAEaria 9RAR [Option ID = 5070]
4. Sri Narayana Guru / #T sTRTI0T 3% [Option ID = 5072]

Correct Answer :-
o Karunanidhi / &eomfaifer [Option ID = 5069]

2) Which of the following states Jaina Triratna?

fArfafaa & ¥ Fi9 St BteT F sa warg?
[Question ID = 1239]

1. Right Judgement, Right Trust, & Right Conduct, / T A0, geas eam, 31k &g« IR [Option
ID = 4953]

2. Right Faith, Right Knowledge, & Right Conduct, / TFae &<, @&ge% 7=, 31X g&=ae aRT [Option ID =
4954]

3. Samyak-Viswas, Samyak-Dharma, & Samyak-jfiana / @& faearT, g=as 94, 31 gz =1 [Option
ID = 4956]

4, Samyak-jfiana, Samyak-Karma, & Samyak-Vicar, / ¥ 3T, @g% $H, 3R g&ae f3ar, [Option ID
= 4955]

Correct Answer :-
. Right Judgement, Right Trust, & Right Conduct, / @Fae =0T, "eges faeam, 3R g=as IRF [Option
ID = 4953]

3) Which of the following schools of classical Indian philosophy are traditionally regarded to be
astika darsanas?

IRaR® w7 § el & R o 1 #ia @1 wa snfeas e A smar 2
[Question ID = 1228]

Early Buddhism / Rf&e st g2t [Option ID = 4911]
Samkhya / EET &7 [Option ID = 4912]

Jainism / StsT &2¥<T [Option ID = 4910]

Charvak / ardTes &2« [Option ID = 4909]

H N

Correct Answer :-
. Charvak / @maTes ggfsT [Option ID = 4909]



4) Which of the statement corresponds to Mill’s Utilitarian theory?

FlT ¥ FYAAT F 3TNANAEE Rgia F A« @aT8?
[Question ID = 1238]

1. Motive is important for evaluating the action. / @RI & HedTe el & [T 35T AEcaqUT ¢ [Option
ID = 4949]

2. Motive has nothing to do with the action. / 32T T & T FIS AT-8aT 8T &1 [Option ID = 4950]

3. Both motive and numerical strength of the people being affected are important / 9HTTAd &leY arel Sllalr
T Hehdie, 3R HETTcHH AT alel HgeaquT & [Option ID = 4951]

4, none of the above / 3WRIFd & & FI$ 7ET [Option ID = 4952]

Correct Answer :-

. Motive is important for evaluating the action. / &R & Hedlehel oA & [T 38T Hgca ol ¢
[Option ID = 4949]

5) Which one of the following could be translated in the form of a particular negative
proposition?

I. Not all Sis P.

II. Many S are not P.

III. Only Sis P.

IV. All but a few Sis P.

Which one of the following combinations is true for the above question?

frrafaf@a # & fFd v srereard FeRTcs adare & T 7 A BT ST wFar 82
I. @Y S, P adi &1

II. 5 S P gt §1

III. $Sad S P ¢l

IV. FT R S5 TN S P

[Question ID = 1243]

1.0nly I/ %aol I [Option ID = 4971]
2.0nlyIl/  oao II  [Option ID = 4972]
3.I&II/  I3RII[Option ID = 4969]

4,1, I1&IV/ LI 3R IV [Option ID = 4970]

Correct Answer :-
o T&II/ 13RIl [Option ID = 4969]

6) Which one of the following is not a valid mood of the second figure?

farafaf@a & @ #ta wr g smsfar w1 der g 76t 82
[Question ID = 1248]

1. EI O [Option ID = 4992]
2. A E E [Option ID = 4990]
3. AII[Option ID = 4989]
4. E A E [Option ID = 4991]

Correct Answer :-
 AII[Option ID = 4989]



Development as freedom is viewed by .

__ yorfa & FaaadaT & T H @ §1 [Question ID = 1264]

1. Sri Aurobindo / &Y 3RTs¢ [Option ID = 5056]
2. Tagore / &R [Option ID = 5055]

3. Gandhi/andt [Option ID = 5053]

4, Amartya Sen/3tHcd Tl [Option ID = 5054]

Correct Answer :-
« Gandhi/amefr [Option ID = 5053]

8) A biconditional is defined as:

FAJET HY IRATIT §1 [Question ID = 1245]

1. A disjunction of two conditionals / &r 3TTaTeaT @ fadtsteT [Option ID = 4980]
2. A disjunction of two disjunctions/ & TaaisT=ir & fadiste [Option ID = 4977]
3. A conjunction of two conditionals/al 3TdTE&siT &hT HdTteT [Option ID = 4978]
4, A conjunction of two conjunctions / &I T3STel T GATSTeT [Option ID = 4979]

Correct Answer :-
« A disjunction of two disjunctions/ & faastaT &r fadtste [Option ID = 4977]

9) A proposition is:

T& darFd 8: [Question ID = 1251]

1. None of the above./ 33 & 1S 8t 81| [Option ID = 5004]

2. Is a language neutral entity./#HTST Ueh Je€T Tcal gl [Option ID = 5003]
3. Not necessarily a sentence./ST&{Y #T&I foh Teh areFT gl [Option ID = 5001]
4. Is good or bad./37=5T AT §X1| [Option ID = 5002]

Correct Answer :-
« Not necessarily a sentence./ST& 78T T U a1 gl [Option ID = 5001]

10) Samkara calls this world Mithya, which means .

AFHT 3 ST F fAeaT Fgad & FEFT acad & ____| [Question ID = 1226]

1. Unreal / 31&d [Option ID = 4902]
2. False / @erdd [Option ID = 4901]
3. Real / a [Option ID = 4903]

4. Illusion / &A [Option ID = 4904]

Correct Answer :-
» False / @erdd [Option ID = 4901]

11) Genderis a__ .

snfa/ A=Y ____ &1 [Question ID = 1262]

1. Genetically determined /31TeJa e &9 & fereifRe [Option ID = 5048]
2. Natural Construct/EIWcﬁE T [Option ID = 5046]
3. Social Construct/@TATIoTe IT=IT [Option ID = 5047]
4, Biological Construct/sifae =T [Option ID = 5045]



Correct Answer :-
« Biological Construct/aifae @& [Option ID = 5045]

12) 'The Ghost in the Machine' principle is given by:

'wefie & Reva o' Rgia &aRT o a1 §: [Question ID = 1256]

1. Gilbert Ryle/fresc Irarer [Option ID = 5021]

2. Bertrand Russell/s¢s T&er [Option ID = 5024]

3. P. F. Strawson/dY. T, TrdeT [Option ID = 5023]
4, ]. L. Austin/st. e, 3fif€eaT [Option ID = 5022]

Correct Answer :-
« Gilbert Ryle/fresr& et [Option ID = 5021]

13) According to Kant a ‘perfect duty ' is .

Fie F AR T TR Whae) Fdea___ ¢
[Question ID = 1232]

1. A moral obligation on everyone / T3 WX Afde g1fdca [Option ID = 4926]

2. None of the above / 3TRIFd # & HI a7gT [Option ID = 4928]

3. A moral obligation on the agent alone / 3Teel Toie (FdT) WReifaederaed [Option ID = 4925]
4. A moral obligation relative to a situation / fd & AMdeT Afde g1fdca [Option ID = 4927]

Correct Answer :-

« A moral obligation on the agent alone / 3/&hel TSiT (dT) Weifaseraca [Option ID = 4925]

14) According to Kant, that geometrical propositions are synthetic shows .

FIC F HTAR — AT sfaafaam wafRF - agquiard & ___|
[Question ID = 1261]

1. Space is an intuition/fa¥aR Te 3dATA (intuition) & [Option ID = 5043]

2. Space is a judgement/ TdFdR T& AU (judgement) § [Option ID = 5042]
3. Space is a concept / TATAR Teh TR (concept) & [Option ID = 5041]
4. Space is a priori/fa¥dR greTeIs1faeh (a priori) & [Option ID = 5044]

Correct Answer :-
« Space is a concept / TATAR Teh 3GUROT (concept) § [Option ID = 5041]

15) According to Leibnitz ___ .
afaes & srqar __|
[Question ID = 1259]

1. Bodies are confused representations of minds/faerai #sT & #fAT gfafaf®ica & [Option ID = 5034]
2. Bodies cannot represent minds/faerr # T wfafafica A& X T & [Option ID = 5033]

3. Bodies are clear representations of minds/faerar &7 & Tase yfafafdea § [Option ID = 5035]

4, Minds are confused representation of bodies/& fasrat @1 #fAT yfafafaca & [Option ID = 5036]

Correct Answer :-



« Bodies cannot represent minds/fera #eT &1 UfafaAfca 58T X Tehd & [Option ID = 5033]

16) According to Leibnitz .

dafaes & srqar __|
[Question ID = 1258]

1. Two non-identical individuals are indiscernible /&I 3R-31ffs=1 (non-identical) caf&a 31fadeT (indiscernible)
& [Option ID = 5031]

2. Two indiscernible individuals are non-identical/aT 31fa%1e (indiscernible) afed 3RX-31ff==T (non-identical)
gId & [Option ID = 5030]

3. Two discernible individuals are identical/aY fa#ie (discernible ) safda 31ff==1 § [Option ID = 5029]

4, None of the above./ 37 & & g 3 sTgY [Option ID = 5032]

Correct Answer :-
« Two discernible individuals are identical/ar [d#ea (discernible ) safda 3@« § [Option ID = 5029]

17) ‘Biocentric theory’ requires:

St g fRAgia’ 1 3maeI+dr §: [Question ID = 1236]

1. Respect for nature / Elﬁgﬁr &l GFHATT [Option ID = 4942]

2. Species egalitarianism / 9STTfa THTACT [Option ID = 4941]

3. Action to show respect for nature / Fepfct & Yicl TFHTeT fewret T fshaT [Option ID = 4943]
4. Belief in respect for nature / ehfc & 9fe @&AT # fagara [Option ID = 4944]

Correct Answer :-
« Species egalitarianism / 9STTfa THATAAT [Option ID = 4941]

18) Causation, according to Hume, is based on:

T & ITAR, FROTET ___ 9T TR 8 [Question ID = 1254]

1. Relations of ideas/9caaT &I @Fa=4 [Option ID = 5016]

2. A deductive inference/ Te fReTHATcH® de [Option ID = 5014]
3. A natural relation/teh WTehfdieh eer [Option ID = 5013]

4, Constant conjunction/faRax F31eT [Option ID = 5015]

Correct Answer :-
« A natural relation/Ueh 9Tehfcieh Heer [Option ID = 5013]

19) Loksamgraha concept is found in ___.

AHEAE ____ 91T AT 1 [Question ID = 1223]

1. Gita / 3frar & [Option ID = 4889]

2. Jainism / SieT &2¥<T 3 [Option ID = 4891]

3. Buddhism / sitg g2i=T # [Option ID = 4890]
4, Carvaka / drdiet # [Option ID = 4892]

Correct Answer :-
o Gita / 3frar & [Option ID = 4889]



Who argued that the entire world can be categorized into seven padarthas?

frua o e & B wqet srera 1 ara gert & aaffea far s wwar @2
[Question ID = 1230]

1. The Vaiéesika philosophers / 321 greifaies [Option ID = 4918]
2. The Vedanta seers / aeid &reifas [Option ID = 4919]

3. The Samkhya philosophers / @& gTeifea [Option ID = 4920]
4. The Jaina teachers / 31T greifete [Option ID = 4917]

Correct Answer :-
« The Jaina teachers / StsT grifaies [Option ID = 4917]

21) The social system in which men holds primary power is knownas ____

q§ WATTOF SaadT forae ToF 9@ ¥ § AfFd URor X §, 36H _ F81 91ar ¢ [Question ID = 1263]

1. Patriarchy / faq&cdr [Option ID = 5050]
2. Feminism / &g [Option ID = 5052]

3. Patriotism / ¢eraifaa [Option ID = 5049]
4. Matriarchy / ATq&eaT [Option ID = 5051]

Correct Answer :-
o Patriotism / &er1féda [Option ID = 5049]

22) Mind is housed in the body, for Descartes, as -

A IR 7 yq ¢, 39+EH F fw, 39 - [Question ID = 1260]

1. Without having any impact on each other/Ueh gaX U 1§ WHTE STel fai=r [Option ID = 5040]

2. A pilot in the body /2R & T grIyele [Option ID = 5037]

3. Ghost in the body / @RI # 8{cT [Option ID = 5039]

4. Intermixed with the body such that both compose a unity / SRR & &I VET S[STd & o Aleil Tehdll T Tl
X & [Option ID = 5038]

Correct Answer :-
« A pilot in the body /2R # T 9rgere [Option ID = 5037]

23) The philosopher who became the President of India ____

___ag griifas St $1Ra & sgufa s« [Question ID = 1266]

1. Babu Rajendra Prasad / aﬁ\ﬂ@iﬁm [Option ID = 5064]
2. Abdul Kalam/3feqeT shelfdH [Option ID = 5061]

3. S. Radhakrishnan / T&. Iremehsurel [Option ID = 5063]

4, K. R. Narayanan / &. 3TR. sIRTIUT [Option ID = 5062]

Correct Answer :-
* Abdul Kalam/3TsgeT seltH [Option ID = 5061]

24) Nyaya theory of error is

~greEgifaae _ 21 [Question ID = 1225]

1. Akhyati / 3reanfa [Option ID = 4897]
2. Atmakhyati / 3iTcarearfa [Option ID = 4898]



3. Anyathakhyati / 3=gareaifa [Option ID = 4899]
4. Anirvacaniyakhyati / 31fadaeireanfa [Option ID = 4900]

Correct Answer :-
o Akhyati / 3rEarfa [Option ID = 4897]

25) This theory has been criticised for not providing enough protection for individual rights:

safFaad FAFRT ¥ forw gaica Feam et 781 F1a & fow g0 Rgia #r aretaar #r a1 8
[Question ID = 1233]

1. Utilitarianism / 393fardrare [Option ID = 4931]

2. Kantian Deontology / ahifesT S3iferdisit [Option ID = 4930]
3. Moral Relativism / #fde &Td8TaTe [Option ID = 4929]

4, Care ethics / T&TOT ATehdr [Option ID = 4932]

Correct Answer :-
« Moral Relativism / =ife @mdeTare [Option ID = 4929]

26) This can be said of Aristotle’s moral philosophy:

3 IE & AfaF goeT & IR F g1 o FFar 8
[Question ID = 1234]

1. That it discussed the nature of friendship / e Ig Il &I Yepfcl 9T ==l X & [Option ID = 4935]

2. That its aim was not limited to being a theoretical discipline alone / 3 sH®T 3237 had Agifas 3TeIRITHeT
e WfAT A&r 41 [Option ID = 4934]

3. That it was inspired by Plato’s philosophy / & Jg Toler & g2l & 3R a1 [Option ID = 4933]

4. All the above / 39 |3fr [Option ID = 4936]

Correct Answer :-
« That it was inspired by Plato’s philosophy / & I& ol & &2l & WRd &1 [Option ID = 4933]

27) Vaisesikas believe in .

FIRNF AATE | [Question ID = 1224]

1. 8padarthas/ ¢ 9erdl [Option ID = 4894]
2. 7 padarthas/ b 9erel [Option ID = 4893]
3. 16 padarthas / ¢ 9erl [Option ID = 4896]
4. 9 padarthas / & 9% [Option ID = 4895]

Correct Answer :-
o 7 padarthas/ U 9erdl [Option ID = 4893]

28) Vaisesika does not believe in .

FaRs___ €1 A1 &1 [Question ID = 1222]

1. God / $2aX [Option ID = 4888]

2. Dravya / g [Option ID = 4887]

3. Inference / 373 ATeT [Option ID = 4885]

4, Upamana as independent pramana / 39#Te Teh Tdcded JHTOT & & H [Option ID = 4886]




Correct Answer :-
» Inference / 3{e{#TeT [Option ID = 4885]

29) The fallacy ad hominem occurs when:

ATFTIRE THEIY a9 3¢9 gIdT & 51 [Question ID = 1246]

1. an appeal to emotions is made by the person/fe&T eafed gaRT HIG=3iT &I ST T ST [Option ID =

2. ::::1me term is used with two different meanings/Ts & g &t af ffe=T 312 & w2er fFam S [Option ID

3. : ::riiial attack is directed at a person’s character/cafed & IRT G ITFdeTd TR fohar ST [Option ID =

4, ::Sf\}vo different terms used have the same meaning/al ff=<T &l st TATT 3127 & w97 fFHAT ST [Option ID
= 4981]

Correct Answer :-

« the two different terms used have the same meaning/ar {1 Ugl &I FATT 3127 & yeT fHaT ST [Option
ID = 4981]

30) Match the following:

i. Jainism a. The doctrine of catuskoti
ii. Madhyamikas b. Satkaryavada

iii. Samkhya c. Asatkaryavada

iv. Nyaya d. Anekantavada

Select the correct combination:

T =1 e F:X

i AT g a. Tgeaife F e
ii. ATAAF  b. GG

ili. AT c. FAHRAG

iv. =T d. 3Swidaare

TEY WASTT T

[Question ID = 1227]

1. i-b, ii-¢, iii-d, iv-a [Option ID = 4908]
2. i-d, ii-a, iii-b, iv-c [Option ID = 4906]
3. i-a, ii-b, iii-c, iv-d [Option ID = 4905]
4. i-c, ii-d, iii-a, iv-b [Option ID = 4907]

Correct Answer :-
e i-a, ii-b, iii-c, iv-d [Option ID = 4905]

31) Which school rejects inference as a pramana?

Pl AT Tl ITHI Y YA & T # 3FdFR FTT &2 [Question ID = 1231]

1. Vaiéesika / d21f¥a [Option ID = 4924]
2. Samkhya / &TET [Option ID = 4922]
3. Carvaka / @maTs [Option ID = 4923]
4. Nyaya / =3I [Option ID = 4921]

Correct Answer :-
« Nyaya / a1 [Option ID = 4921]



32) Moral virtues according to Aristotle:
T F HAR A aom:
[Question ID = 1237]

Are a mean between two vices / al 31aa[utt & i<l Ueh HEGAT g [Option ID = 4947]

All of the above /  3uRiard &t [Option ID = 4948]

Pertains to our emotions and desires / AT HTGAT3T 3R T3 & Gf&T § [Option ID = 4946]
Can be acquired / &I gTT&l TohaT ST ThdT g [Option ID = 4945]

HwwnN =

Correct Answer :-
. Can be acquired / &t g1f&el AT ST Tehar & [Option ID = 4945]

33) Standard decision procedure in the logic of propositions could be represented by:

THAFAT F THA H A fAviy R_ftrar &1 yfafafa gar @:
[Question ID = 1244]

1. Disjunctive Normal Form/fdaIsteh ETHTT 31T & gaRT [Option ID = 4973]

2. Truth Table Method / &g @RUfl fafer & gaRT [Option ID = 4975]

3. Shorter Truth Table Method/ gk T @RCM fafer & e&RT [Option ID = 4974]
4. All of the above/ 3tRYerd ¥ & garT [Option ID = 4976]

Correct Answer :-
« Disjunctive Normal Form/faaTsies HIHT 3R & GaRT [Option ID = 4973]

34) A sound argument is one in which:

IFawa A aw g s ___|
[Question ID = 1242]

1. The premises are true and the conclusion is also true / JTMERETFT I gl & a2r oy off o
8T & [Option ID = 4967]

2. The premises are true but the conclusion is false / 3TYRAEFT AT 8l & Ted sy 318 [Option
ID = 4965]

3. The premises are false and the conclusion is also false / SMURETFT 39T 8id & I sy af
T grar & [Option ID = 4966]

4, The premises are false but the conclusion is true /  3TURETEFT 3T BId & e TSy HF glaT &
[Option ID = 4968]

Correct Answer :-

. The premises are true but the conclusion is false / 3TUREATFT T gId § W] fTshy 318
[Option ID = 4965]

35) What gives pleasure is good is identified with ____.

NG AT S TE HOTEIATE ___ & WY AGTeHT TR FIar1 ¢ | [Question ID = 1267]

1. Duty theory / &deg f&gia [Option ID = 5068]
2. Hedonism / g@drg [Option ID = 5065]
3. Deontological theory / f3aeeIdifotehel g [Option ID = 5067]



4, Kantianism / &feafaea [Option ID = 5066]

Correct Answer :-
+ Hedonism / g@drg [Option ID = 5065]

36) Which of the following is the correct symbolisation of the proposition “All businessmen and
ministers are either hard-working or rich”? (Bx: x is a businessman; Mx: x is a minister; Hx: x is
hard-working; Rx: x is rich):

adharey 'goft sarardy i #R ar ar afeE § a1 aelt § F e w1 A gdhheor @ gwar §? (Bx : x A §;
Mx: x 7 §; Hx: x 9 &; Rx: x 3/ §) [Question ID = 1250]

1. (X) [(Bx v Mx) o (Hx v Rx)] [Option ID = 4997]
2. (IX)[(Bx. Mx) . (Hx v Rx)] [Option ID = 4999]
3. (x) [(Bx .Mx) v (Hx . Rx)] [Option ID = 4998]
4. (x) [(Bx. Mx) o (Hx . Rx)] [Option ID = 5000]

Correct Answer :-
e (x) [(Bx v Mx) o (Hx v Rx)] [Option ID = 4997]

37) Which of the following would be true for empiricists?

frafaf@a # & lawr srpsraarfeat & e wdh gham [Question ID = 1252]

1. Mind is born with innate ideas/ATEdss S=aaTd faaRT & @ e grar § [Option ID = 5005]

2. None of the above/3uRed H & IS 77T [Option ID = 5008]

3. Mind is passive/afEasa fAfSha § [Option ID = 5007]

4, Mind is a clean state at birth/S/=# & THT ATEASH T ReFd Tole FI ag 8Iar & [Option ID = 5006]

Correct Answer :-
« Mind is born with innate ideas/ATEaSh SeHITd faaRT & @rer Yer gar § [Option ID = 5005]

38) Which of the following is NOT a Category of Judgment listed by Kant, under 'Quantity":

frfaf@a & ¥ Fia @ Aoy i P Fie garT TR#ATr F I=adia 7 § [Question ID = 1257]

1. Particular/3ereamdY [Option ID = 5026]
2. PIuraI/a§EJF¢r [Option ID = 5028]

3. Singular/ TeReaTdY [Option ID = 5027]
4, Universal/gdeardt [Option ID = 5025]

Correct Answer :-
« Universal/@degmdY [Option ID = 5025]

39) Which of the following is a symbolization of modus ponens?

Frafaf@a & @ Fia @1 A9 =T F1 v+ &2 [Question ID = 1270]

1.P>Q, QO R, Therefore, P> R/ P 2 Q, Q o R, 38T, P o R [Option ID = 5079]

2.P > Q, Q, therefore, P/ P o Q, Q, 3afaIT, P [Option ID = 5077]

3. P, Therefore P / P, 38Tl P [Option ID = 5080]

4, (HoR)D(S>T), (H>R), Therefore, (S T) /(H> R) 2 (S>T), (Ho R), 3&faT, (S o T) [Option ID =
5078]

Correct Answer :-
e P> Q, Q, therefore, P/ P o Q, Q, s&faw, P [Option ID = 5077]



40) According to David Hume,'impressions’ :

3fs #437 ¥ HTAR, FEFR : [Question ID = 1253]

1. Include sensations and emotions/TdeaT3iT 3R HTaAT3HT & A FI § [Option ID = 5010]
2. Are lively and forceful/Sirad 3R getraermelr g [Option ID = 5009]

3. All of the above/39R1eFd THY [Option ID = 5012]

4. Are experienced/37J37d fhd ST & [Option ID = 5011]

Correct Answer :-
o Are lively and forceful/Sirad 3R geraemmelr & [Option ID = 5009]

41) If “All men are mortals” is true, then which of the following propositions will be true?
I. Some mortals are not non-men.

I1I.No non-mortals are men.

III. Some men are mortals.

IV. All non-mortals are non-men.

Choose the correct answer:

Ife "weft e Avorelter " wew B, ot ewfaf@a 7 @ sl @ adaT o gem?
I o Mol SFd H-AT 781§

IL. F1§ 37-FYorelier safda AqsT 7181 81

II1. & A7 ATOTefer §

1V. gt ar-sorelter safara ar-wrepsa €1

e Seak g

[Question ID = 1247]

1. Both I & II/ I 3iX II gI=AT [Option ID = 4985]
2. I, II, &IV/ I, II, 3iR IV [Option ID = 4986]
3. Only III/ shaef III [Option ID = 4987]
4, All four./g3T Ir| [Option ID = 4988]

Correct Answer :-
o Both I&II/ I 3R II gt [Option ID = 4985]

42) Euthanasia is an:

FTOHY:
[Question ID = 1241]

1. all of the above / 3uierd | [Option ID = 4964]

2. act of encouraging another person to kill themselves. / &R el &I T I AR & AT WieaTRd
T T H| [Option ID = 4963]

3. act of deliberately ending a person’s life to relieve suffering / & g¥ Fat & ferw fohell cafFa & Shae
I STTeTSTR HATCH et 1 1 § [Option ID = 4961]

4, act of deliberately assisting another person to kill themselves / T 3/=g =afFd &r STTeTegiehy HEIAT
AT cTfeh &Y Geehl AR Heh [Option ID = 4962]

Correct Answer :-

. act of deliberately ending a person’s life to relieve suffering / @ gT &=l & fav fonell cafeda &
Sirae a?rdldsg\smi THATCT FlA T 1Y § [Option ID = 4961]




Kantian ethics is .

FHifeds aAfaswar ___ &1 [Question ID = 1235]

1. Ethics of convenience / gfaerm &I Afcehdr [Option ID = 4939]

2. Principle based ethics / Te T&gra 3R sAfdear [Option ID = 4937]
3. A goal based ethics / T& o1& 3menRd aAfaehdr [Option ID = 4938]

4, Emotive ethics / #TasTTcHs wAfaehdr [Option ID = 4940]

Correct Answer :-
« Principle based ethics / Te f&gia ek sifashdar [Option ID = 4937]

44) According to Logical Positivism, philosophy must be done through:

aifée gegerars/AfARRATH ¥ IquR, g areT e y&R @ g AfRkT [Question ID = 1255]

1. Falsification/ fA2areoT g@rT [Option ID = 5020]

2. The validity of logical argument/dTfeheh JiekeT &I drelT g@RT [Option ID = 5017]
3. The role of reason/fade @I 8{fAshT g@rT [Option ID = 5019]

4. The logical analysis of language/$iTsT & difdher Ta2eIwoT gaRT [Option ID = 5018]

Correct Answer :-
» The validity of logical argument/aiTféher JfebeT T derelm gaRT [Option ID = 5017]

45) The Theory that leads to Liberation is

ar fagia S AYaT 1 3T & ST §: [Question ID = 1240]

Theory of Momentariness / & 0terare, [Option ID = 4960]
Eight fold path /  37TSei3T HT3T [Option ID = 4958]
Desireless action / foTse1aT et [Option ID = 4957]
Five vows / 9 #Agrad [Option ID = 4959]

H N

Correct Answer :-
. Desireless action /  fasa&reT e [Option ID = 4957]

46) The book The Argumentative Indian is written by .
[Question ID = 1269]

1. Tavleen Singh / daeile &g [Option ID = 5073]

2. Deepak Sarma / &9 2T [Option ID = 5074]

3. Amartya Sen / 3/ @ [Option ID = 5075]

4. Upamanyu Chatterji / Wﬂt\?ﬁ [Option ID = 5076]

Correct Answer :-
« Tavleen Singh / ddeite &g [Option ID = 5073]

47) The author of Riddles of Hinduism is .

R 3 Reggers dww ¥

[Question ID = 1265]



1. Radhakrishnan / Ir&mesoteT [Option ID = 5057]

2. Ram Manohar Lohia / I1& #A=AIgI elifgar [Option ID = 5059]
3. Ambedkar / 37FdISaT [Option ID = 5060]

4. Rahul Sankrutyayan / Tgef "ishear =T [Option ID = 5058]

Correct Answer :-
+ Radhakrishnan / Ir&mepsuTe [Option ID = 5057]

48) The author of Vakyapadiyais

FFITNTF d@H ____ B
[Question ID = 1271]

1. Bhartrhari /87cR [Option ID = 5084]
2. Gamge$a / 313rer [Option ID = 5083]
3. Panini / 91Ot [Option ID = 5081]
4. Udayana / 3¢d«1 [Option ID = 5082]

Correct Answer :-
e Panini / arfoifar [Option ID = 5081]

49) The author of the text “Bhasapariccheda'is .

“HNT IR FEH &
[Question ID = 1229]

1. Jayanta Bhatta / STdd &g [Option ID = 4916]
2 Viéwanatha Paficanana / fa2aarer 9sareleT [Option ID = 4914]
3. Annam Bhatta / 3fe7H #g [Option ID = 4913]

4. Ramanujacarya / TATTER [Option ID = 4915]

Correct Answer :-
. Annam Bhatta / 3ledH g [Option ID = 4913]

50) No fish are mammals. Some dogs are not fish. Therefore, some dogs are not mammals, is an
instance of one of the following fallacy:

FI§ AGA TATURT AT §| TS Fedd Al AL §| FATAT, TS Fedd TATUNY 61 §, eafaraa # & el v &1
3¢TeY0T §: [Question ID = 1249]

1. Existential fallacy/ HcaoRe dehery/ dcareird [Option ID = 4993]
2. Exclusive premises / 3eed 3TaRarad [Option ID = 4994]

3. Tllicit minor / 3ifafAd 3E Ue [Option ID = 4995]

4. Undistributed middle / 37edTcd AEg Ug [Option ID = 4996]

Correct Answer :-
 Existential fallacy/ ¥ca9eh deheI¥/ gcareti@ [Option ID = 4993]



